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pan1 (@ Zh yZ+Zgz )Y, (5.21)

000.000 h(z),g(x) 000000000,

000 (521)00 (520000 00000.00000 hi(x),q(x) 00000000
gogobobooooooobog.

0000000 h(z),g(x) 00 (52000 0000000000

_Jri=9
hi(z;) = { 0(i#j) (5.22a)
gi(z;)=0(0 000 j) (5.22b)

000.00 h(z),g(x) 00 (5200) 0000000000

Wi(z;)=0(0000 j (5.23a)
9i(x;) :{ 2_‘7 (5.23b)

dod.bbboooooooooog
di(zr) =(r—x0) ... (x —x; 1) (x —2441) ... (x — W) (5.24)

00000.00 (x—2;) 0000000000000 OO.O0002000000
gbo2v0dnoogn

gi(x) ={0i(2)} = (x —20)*. .. (z — 2i_1)*(x — 2i11)*. .. (z — 2N)? (5.25)

odobo.0d00o00d,rz=2000000 z=2;,00000000,

gi(z;) =0 (j # 1),
() =0 (j # i) (5.26)

0000.000000000 h(z),g(z)0000.

00 () DODOO,0 (5260000000 hy(z)O0ODO0O0O a;,b, 000 2N+10
goon

hi(x) = g;i(x){a;(x — z;) + b;} (5.27)

(o ooo)
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Uoo.000z=2, 0000000 z=2;,0000000000000. 00
gogbobbbuoggooobbobbb,z=x,0000bbbobbooggg.
gobooo

hi(zi) = 1,
hi(zi) =0 (5.28)
ooo.0¢G2y0oo0oooooooood
qz‘(l’i)bi =1,
q;(z:)b; + qi(x;)a; = 0 (5.29)
goobo.o0ggoon
qi(z;)
a; = ——— 5, (5.30a)
{aqi(z:)}?
b, = ; (5.30b)

Qz(xz)
00000.0000 e, 00000000 (52700000
q’(ﬂf){ q;(wi)}
hy(z) = 1—(z— (5.31)
@ = @ U™ 50w
000.0000000000000000000 L(z)(@ (G57)000000

(z —zo)(z —11)..(x —xj)(z — xjp1)...(x — zn)

(zj — xo)(zj — x1)..(2; — xj1) (x5 — @j1a).. (25 — ow)

000.0000 (52500

lij(x) = (j=0,1,....,N)

(z) _ ()12

gboooboobo.0boobdd e=2,000,0 (5.8)

_[16=1)
b= { 00 #3)

gogooodg

9T _ o (o) () = 20 () (5.33)
ooooo.ooooog ¢.3n)o

hi(x) = {l;(2)}*{1 — 2U(z;) (z — ;)} (5.34)

(o ooo)



oo 27

ggo.

0000 hy(z) 00000000000 g(x)0000.0 (526000000, gi(x)
00000 ¢,d; 000 2n+100000

gi(x) = qi(2){ci(x — ;) + d;} (5.35)

uboo.0db0z=20000000 2=, 0000000000000. 00
ggbbbbbouooogooobbbbbb,z=2x,00000000000000.
goooo

gz<$@) = 07
gi(z;) =1 (5.36)
O00.0 G35 000000000000o00
QZ(xz)dz = 07
goo.0ooooo
d; =0, (5.38a)
1
C = (5.38b)
qz(%)
oodoo.oood ¢3s)oooon
qi(z)
gi(r) = Tr—x; (5.39)
(2) %@0( )
OO0, o é¢.32)00 5.39 0
gi(x) = {li(x)}*(x — ;) (5.40)

ggo.

00000000 hi(x),g:(x)00000.00000 (S2Hp000000,000
000 panya(z) O

poxar(@) = S (@)L - 2w (@ — 2} + Y L@@ -zl 54D

O0D0.000000000 povyi(x)00000O0DO0OCOOOOOO.

(o ooo)
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543 0O0O0OOO

gbooboooboobbooboob,obbooboobooboobn,n
gbobobobooboooooobobobobobuoooobobobo.o
gbgobs4000.000000000000

B 1
1422

0000,00 [-5,5]01000000000 f(x)00000000O00OOOOO
gogobbboooob.ggoob,booooboobobbooooooobood
ggbbobooogbbobo.bbbooobbbbooooob.obbbodao

/()

(5.42)

-5 4,43 -2 -1 0
-05

T

gs4 0ooobob.oobobo,gboobobobobobobobon
ggoooo.

goool1ogoboobooboob,obobbooboobooboobg.

55 Uooobognd

551 O000OOOOO0OOO

gbogobobooboobboobuoobbooboobboobuoobbon
goooboo.coob3ggbooboobooooooboo.

r—y000 N+1000 (z0,%), (z1,%1),.-.,(zy,yy) 0000000000 0O.
0D < < ..<zyUboOO.300000000000O000DDOOO0
y=S()000. S« 030000000000. S() 0000 [z;,2,41] (j =

(o ooo)
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0,1,...,N-1)000000000000000.2;<z<z;,0000 S(z) =
S;(z)000. 8(z) 0

S]($) = CLj(Q? - xj)?’ + bj(ﬂ} - $j)2 + Cj(SL’ — 3?]') + dj (] = O, 1, ceey N — 1) (543)

00000000000.00000000 SxODO0DODODOooooooooo.

() 00 y=S(x)000000,0 (z,5)(j=0,1,...,N)0ODOOO.

( 00000,z=2;(j=1,2,...,N-1)0,y=S(x)010000000,2
0oooooo0oooo.

002000000000000000000000000000.

gboobooobobooboobo,bbobobooboobooboobn,n
googooboooboobbooboobbooboobboobooobboon
go,000b000b000b000b00004d.

Y
y=s(x)
fi fz‘+l
Ji-1
h
x
O Xj-1 X |

055 0000000000.0 (2;,5,) 000000 fi(z,) 010000020
0oo s,s'oooooo.

(o ooo)
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552 O0O0OOOO0OOLODOODO

(Hhob @oboob

Si(x;) =y, (7=0,1,...,N —1) (5.44a)
Sj(@jt1) = Y1 (J=01,....N-1) (5.44b)
Si(xjp1) = S (w541) (j=0,1,...,N =2) (5.44c¢)
S(@j41) = Sy (1) (j=01,....N —2) (5.44d)
00000.00040000000 (543000 aj,bj,¢;,d; 00000,
00 z=20000 S(x)02000000
u; = 8"(z;) (j=0,1,...,N) (5.45)
0w,000.00000 (543)00
Si(z;) =2bj=u; (j =0,1,....N —1) (5.46)
ooooo,
bj:%(jzo,l,...,N—l) (5.47)
000.000
S%(x541) = 6a;(xjp1 — x5) +2b; = wjpy (j=0,1,...,N —1) (5.48)
ooooo,
a;= "N (G _0,1,... N —1) (5.49)

6(zj11 — ;)

000.Sz;) 000000 «,0000000,0 (5.46), (5.48) 00O (5.44b) O
000000000.0 (544a),(5.43)00

O000000.000 (5.44b) 00

aj(tj01 = 2))° + bj(wjn — 25)° + ¢z — @) +dj =y (j=0,1,...,N = 1)
(5.51)

goooo,nO 6.47),6.49,650000000,

. 1 )
¢j= I TI e )(2u +ug) (G=0,1,..., N — 1) (5.52)
Tjy1 — Tj 6

(o ooo)
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000.000 (544c)00000 (5.43) 00
3a;j(zj1 — 25)* + 205(zj01 — @) + ¢ = ¢y (5.53)
00000.0000 (547),(5.49), (552000000,

(i1 — )uj + 2(Tj02 — )i + (T2 — Tjp1)Ujge

:6<yj+2—yj+1_yj+1_yj) (j=0,1,...,N—2) (5.54)
Tjr2 — Tj+1  Tjp1 — Ty

Oobwobooooooooooo.o ¢6s4)d j=0,1,...,N=-200000
EEN

(
hoUo + 2(h0 + hl)ul + h1U2 = U1

hyuy + 2(hy + ho)ug + hous = vy (5.55)

\ hn_sun—2 4+ 2(hy—2 + hy_1)un—1 + An_1uny = Un_1

uod u,u,...,uyd0goog10odbogbooooobobonoog.god

hj:ijrl_xj (]:0,1,,]\]—1) (556)
v; :6(yj+1h_ Yi —yj];yj‘l) (j=0,1,....,N—1) (5.57)
J j—1

Ooo.h,y; 00000000000 z5,y; 000000000000, 0O (5.55)
ggbooooooo.

goooboboogdan

0000w 0000 wOOuyO N+1000O.0 G55 0000000 N1
gbodo,ubibdbdw; 00bgoooodogoodo. obodogood
00 (zo,9), (zn,yy) 00 0000000000000 OOODOOODO.OO0O
gbbogoboodg,ggbobooobooobboobbuoobbooboo
goooo.

gboobobogooooboboboboobuobuobobobobob.bob 20
ggbobbbuoooobobog,bbodd

S”(.Q?o) = S”(.CEN) = 0, (558)
S"(x) = Sy_1(zn) =0 (5.59)

gob.gbboboooobbbuooobobooooboboboooon.

(o ooo)
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00000 (54500 wy=uy=0000.000000000000 (5.55) 0
00000000

2<h0 -+ hl) hl Uy

h1 2(h1 + hg) hg O U2

hn_3 2(hn—3+ hn_2) hn_o UN—2

O hn—2 2(hn—2+ hn_1) UN_1
U1
V2

= : (5.60)
UN-2
UN-1

000000, 00wy, 000000 10000000.0000 10000
00000000000000000,3000 (ridiagona) 000000000
00D000.0000100000000Y%, 00000000 uj,a;,y; 000
(5.47), (5.49), (5.50), (5.52) 00 00 a;,bj,¢;,d; D0000000000,000
00 (5430000000 S(z)0000.

gogbbbuoodgbbboooobbbuooobn.

() N+1000 (z;,4),(j=0,1,...,N)DOOOOO.
23000000 S(z)00000

S(z) = Sj(x)
= aj(z —2;)° + W o — ;)" + ¢5(w — 25) + d; (5 < @ < wj40)

oooooo.
(3) §"(z;)=u; (j=0,1,...,N)0DDODO.

(4 000000000000 $(x) =S5"(zy)=0000.0000 up=uy =0
ooo.

(5) O (5.57)
hj:$j+1—ZL‘j (]ZO,l,,N—l)
%:6szﬂh—%;%l) (j=0,1,...,N—1)
J j—1
booBOO.

(o ooo)
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00 hjv; (j=0,1,...,N—1)0000,00 10000 (56000000, u
00 uy,0000.

(6) O (5.47), (5.49), (5.50), (5.52)

u.
=5
a, — i+t T Uy
J )
6(zj41 — ;)
d; =y,

Yirr —y; 1
=S JI . . 2 s
¢ T — 1 6(%+1 ;) (2u; + uji1)

(j=0,1,...,N—1)

0000 aj,b,¢,d; (j=0,1,...,N—1)00000.0000 S(z)0000.

gbobobgo,0boobobobobooogboooobobobuobon
oooooooo.ocoooboboobooboooooobobobbod. a8 0
OO0 z=2p,z=2xy0000000000000O0000O0,

S'(zo) = o, S'(xn) =B (5.61)

goo.gobogob ¢Geobog 1ocogbooboobuoobuo.gobon
(5.43)00

1 h
Sh(xo) = co = h—o(y1 — o) — Eo(zuo fu)=a (5.62)
ng_l(xN) = 3aN—1h?v_17 +bn_1hy_1 +cnoy
1 hy_
= (yn — Yn—1) + —(uy_1 + 2uy) = f (5.63)
hn_1 6
goo0.0oggpoogooogoog
6
2houg + houy = h—(yl — o) — bav, (5.64)
0
6
hn_1un—1 + 2hn_1un = 68 — 3 (yn —yn—1) (5.65)
N-1

(o ooo)
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oo,
2hg ho Ug
ho 2(ho+hi) M O Uy
hn—y 2(hy—o+hy—1) hy-1 UN-—1
O hn-1 2hn—1 un
h%(yl — ) — 6a
U1
(5.66)
UN-1
653 — o (yn — yn—1)
goooo.

56 DCPAM U0 UI0O0O0OOOOMO

5661 OO0ODOOOOSOOO

googoodobo pceAM OO0 ogoogooboOoSsSoboooboobon
gboobooo.30boobboobooobooboboobb,ooboos300
gboboogoboog,ggobooobooobbuoobbuoobobooboo
g.gboboboobbob,obbobbobbobbobboboboobon
gobgoobbogooosbboobboobbuooboboobboooDbon
gog.

5.62 0O0O0OO

gogobobbobbouodooooobobobbbouooooobbobboogo
gobodb.oboobboobboobbooboobboobboobbo
goboooogbood.

ggobobod

00000000 (z5,y5),000040000000000000 (2:,95), (Tit1, ;)
(21, yj+1), (wir1,y;+1) 000. 000 f0000000000000000000

(o ooo)
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ooooooog.
). (zi,y,) 0 (zi41,9;) 00 f, £/, 0000,2000 100000003000
00000 (zp,9,) 00 fO00DO.

2). (z;,y;) O (ziy1,9;) 00 fy, fo, 0000,20000000000 (zp,y,)
0o f,0000.

3) (Ii,yj+1)D ($i+1,yj+1>DD f,fxDDDD,.TDDDDDDDDDD (xBayj—i-l)
00 fO00O00.

4. (x;,yj+1) 0 (vip1,y;41) 00 £y, [, 0000,20000000000 (2p,yj+1)
0O f,0000.

5.0000 140000 f(zs,y;) fy(zs, i), f(xB,yj11), fy(zp,y;41) 0000
yoooooooo300ooooooo,oooaon f(a:B,yB)DDDDD.

(xi/yjn)_ (xB’ijH) _(xi+1/yj+1)
X
(x5, ¥)
(xi/yj>/ ’, \(xm/]/j)
| (x5, 9;)

056 0000000O0O0O0O0ODO. xOODODODOOOOO (z,yp)000. 00O
gbobobob4b0b0b0o,00b0bobobobobobobo
go.

gsetlgbuoobgobodb.boboobooboboobuoobobo4an
gooobooobi1booob,20bg0booboobob.oboboboob e
ggbbobuooooboboooooboo.

gooobgoosbobooobooobuoobuooboobon.

(o ooo)
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563 UUO0ODOOOOSsSOOODOO

DCPAMO 0000000000000 00O00S00000000,000000
O0000000.00000100000000000500000000000
00,00200 f f., f.0,0020000000000(@5700).00020
000000000,000000000000 f, fa, £y, faes fous Fogs Sooys Fouys Fees
000,000000000000000000.00000000000500
0000000.00000005000000000000000200000
0000 #,f0000,0000000000000000000 f00000O
000000,0000000000000000000000000000

—h _—h —h ]

XX XX

—n
— —h

gsgougoooosbooooooog.

gs7,0s8tibgboooooogsgboooooboboobosobobonbio
O00D0O0O00DO0O00DO0O00D0O0.xO0DOOoOooo0oooog, f, fo fe O
gobooboobooboobob,1booob,20o0boon.

564 U0O0DDOOOOSOOOOODODOOO
gooooooon

gooboboobobob@wobobobobo)obobobobobo,oooo
00000,004000000000 —Az,0,Az,2Az000.00000 f(z)

(o ooo)
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f(2) = as2° + agx* + azx® + ax2x® 4+ ayx + ag (5.67)
000.00000 g(x) O
g(x) = 5asz* + 4a4a” + 3aza® + 2asx + a1 (5.68)

000. 00000 f(—Ax), £(0), f(Az), f(2Az),9(0),¢(Az) 00000000
oooooooo.

f(=Azr) = —asAx® + ayAx* — asAx® + asAx? + a1 Az + ag, (5.69)
1(0) = (5.70)
f(Az) = CL5A£L' + as Azt + as Az + as Az + ay Az + a, (5.71)
f(2AZ) = 32a5A2° 4 16a,Az* + SasAx® + 4ay Az + 2a,Ax + ay, (5.72)
9(0) = (5.73)
g(Ax) = a5Am + das Az + 3asAx® + 2a5Ax + ay. (5.74)

0 (5.70),(5.73) 00, a0,, 00 0000. 00000000000000000
004000000000.000000 f(z)00000.

gogbbbuooobobbtbdedUebD0O0000O0OOO0O0OO.

ao = f(0), (5.75a)
a; = g(0), (5.75b)
0y = o3 [Arg(Ax) = 2f(Ax) = 3a5A0° — azAx® + ar Az + 2ay), (5.75¢)
a4 =3 A1x3 [f(Az) — f(—Ax) — 2a5A2° — 2a,Ax], (5.75d)
a =3 A1I4 [Azg(Az) — 2f(Az) — 3asAz® — asAx® + a; Az + 2a), (5.75¢)
a5 — 121& [F(2A7) + 9F(Ax) — f(—Az) — 6Azg(Ax) — 601 A% + 9a]  (5.750)

000000000000 0000000000.000000,0000000
F(&) = as€® + as€® + a3€® + ax€® + a1€ + ag (5.76)

gooooobob.oboo¢oobouooonoobobon.

gogbbobogogn

000000000000 @O0O000000)00000000000,000
00000.0000004000000000 Az, 0, Azgs, Aze, 00 0. O

(o ooo)
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00 Az < 000000000O0O0.00000O000000,0000000
Oodooooouoo40b00b00bouooboooobo,ocoboobouooooooon
O0000000000. 000 Az 0000 1000000000 00O0DOO
ooooooooo. oooboooo Xoooo,X =»0,1,t000. 000
r = Aoy /Axoz, t = Awgy/Axes 10 0.

00000 F(X)O
F(X) =asX® + as X* + a3 X? + asX? + ;. X + ag (5.77)
000.00000 G(z) O
G(z) = basX* 4 4a4 X> 4 3a3 X? + 20, X + a, (5.78)

O00. 00000 F(r) = f(Azy), F(0) = f(0), F(1) = f(Azgs), F(t) =
F(Azgy), G(0) = g(0)Azgs, G(1) = g(Azes)Azes D00 . 00000000000
OD00,000000000 Az 000000, (5.70),(5.73) 000000000
DoOo0ooOooooo.

ap = f(0) (5.79)
a; = g(O)A:B23 (580)
goo
Fr=F(r)—ay— arr (5.81)
F;=F(1) —a—a (5.82)
Fy=F(t) —ag — aqt (5.83)
F=G(r) — a (5.84)
gooo,gguooooobobn
as + a4 + as + ag = F3 (585)
asr® + agrt + asr® + aor? = Fy (5.86)
Cl5t5 + Cl4t4 + a3t3 + a2t2 = F4 (587)
561,5 + 4&4 + 3(13 + 2@2 = Gg (588)

(o ooo)
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ggb.gbbbodoodaoboo

B Fy _ G
T oD —t)  (t—122(r—¢)
[4 + 2rt — 3(’/" + t)]F4 Gg
B O T | e Ty (5.89)
L (t+2)F; (t+2)F,
T =D22(r—t) (- 1)22(r — 1)
[5—=3(r* +rt+2)+2rt(r +t)|F3  (r+t+1)G3
i r— 12— 172 “eone-1n O
as — —2F3 +1-— 3@5 - 2(1,4 (591)
Ao = Fg — a; — a4 — as (592)

000000.0000000000000000 X=0=¢(/Az00000
gbooo FpFoOoobooboono.

F(0) = a50° + a,0" + a30* + a2:0° + 0,0 + ag (5.93)

@aooon)
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el OO0

goobbbobbbouoooooobobbbbouoooooobbobboogo
gogoboobobooo,obbobooooooobobobobooo,obbbbood
gbbobbuogboboooboogbbooboobboobboobg. oo
goboogboooobboooboooboobboobobooobboob,o
ggbbobuoogobbbouooobobbboooobboboooobobooo.

googooobbboboboobb,20bbbobobbboboog,oouoaaad
200000000.000000 (¢, f(zx;))DODODODOOOOOODODOO
goodoobb. ooy Ug g
gboboo,bbgdbbuodbbuodobbugbbuoobbooboboooboo
0oo0o00.00000000000 [»,2;4,)000000000000,000
gogobbbbbbouooooobbbbboooouooobbobboago
gogb.ggoobobooooobobouooobob,ooobbobood
gogobbbbbbouooooobbbbbouoooooobbobobbboago
gogo.

gboobobgobgoooil1bo bceaAMU D00, 0b00b0bOO0ObDObOOODOn
goboogsboobobuoboooboboboo.bobooboobobobon
gbogoboboboobo,3goboboobooboobobooboobon
gobooogad.

gbogoobooboobboobuoobbooboobbooboobbon
gobobobobobo.gobobobooboooboobobobobobooon
gobogooboobgoobobooboooboobo,obobuooboboo,oboa,
gobooboobobboboobuooboobooobo.

(o ooo)
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O OA 0O0O0O0O0dooooodd
L] [

000000000000 py(z)000 f(2)000 f(z)—py(z) 0000

(N+1)
) = (o) = @ ) = )l —ax) (o <0 <) (A)

0000 2 <&<ay0000000000. fND()0 f(z)0 N+1000
oooo.

00 I(z),G(x) 000000000,

(z) = (z — xo)(x — x1)...(x — xp), (A.2)
(N+1) (o
G(x) = JEN . i)!). (A.3)

0000 f(z)—py(z) O
f(x) = pn(z) = T(2)G(z) (A4)
00000.0000000000 Fz)000000000.
F(z) = f(x) — pn(2) — (2)G () = 0. (A.5)

000 N+1000 z=m0,21,...,2x 0000 Fz)=00000.00 [z, 2]
00000 2,000,G()0000000000.

Gl = 2 <x’“)Hzxi J)V (1) (A.6)

0000 F(z)=0000,F(z)=0000000 N+200000.

F(z)=F(z)=0000000000000,F(&%) =0000 &000 (0, 21)
000000 100000.00000 F(z)=0000 20 N+200000
00,F(z)=0000 2000 (z,2y) 000000 N+100000.00

(o ooo)
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000 F'(z) =0000 NOO 000 (z,zy) 0000,00000000,
FO) () =000000000 100 2=£000 (z,2,) 00000,

00 FN(z)0000.py(z)0 NOOOOOOODOO PV @) =0000.
00 00V (z)=(N+1)!000.00000

F(z) = f(z) — pn(z) — H(2)G(2)
FONHD () = fONVHD () — (N +1)!G (). (A7)

r=£6000,FNU() =0000,

0= fN*I(E) — (N +1)IG(9). (A.8)
D000 GO
(N+1)
G(§) = JEN+ S,) (A.9)

00000.00GE00A4HODO0D0O00ODO

IV AARI(S
f(x) —pn(x) = NE!

_ (g
(N +1)!

II(z)

(x —xzo)(x — 21)...(x — W) (A.10)

0000 (AHOOO00.0000,00 (ze,2y) 00000 (ADDOOOOEO
o0oooooooooo.

(o ooo)



ob B 43

OOB O0@G.60)0000000

g¢eonogog.

2(ho + h1) hy Uy
hl 2(]11 + hz) hg O U2
hn_3 2(hn-3+ hn—2) hn—2 UN—_2
O hn—2 2(hn_2 + hn_1) UN—_1
1
Vg
UN-2
UN-1

gogooboogdon

aq C1 T U1
b2 (05} Cy O i) Y2
o S I (B.1)
bv-1 an-1 cN-1 IN-1 YN-1
O bN ayn N YN
N ~~ 7 N—— SN———
ooog A oood @ ooo0d vy

D000000.0000 AD0DO00DOO0DOOD 300000000000
0,300000 (widiagona) 000 00.0 (5.60)00 w; (j=1,2,...,N—1)0
N000000000 »0000000000000000.
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0000 Ad0DOOoDoo20000 L,uoboooao.
a, C
bg (05} Co O
bv-1 an-1 cN-1
O by an
A
1 d1 C1
l2 1 O dg Co O
I3 1 ds c
_ 3 . 3 3 (BZ)
In_1 1 dv-1 CN—1
O In 1 O dy
L U

LOD0O0O0D0D00O0000O0bO ob0o0oboDO 3000 (lower triangular matrix)
googoo.oob,bd2)ybgbgbooooooootbobobs3nogon
gboooboooboo.cbooudo3000 (upper triangular matrix) O 0O O 0O .

Luvob @2)0o0boo0bobooobo,bo0200b00o0o0bobooboobo
oooo.L,voobooo,A000ogn

C1

bg a9 Co O
b1 an—1 en-1
O bn an
d1 C1
lgdl d2 + l2C1 C1 0
_ lsdy ds + lco c3 (B.3)
O INc1dn—2 dyn—1+In_1CN—2 CN-1

Indn_1 dy + Inen—1

goo.obbbbbudodd,aqtdid e, 00booogobbbbogg
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ggbboobuogobobob.bboooobbbuoodan

di = ay, (B.4a)
b.

li = —, B.4b

i (B.4b)

di = Q; — lici—l (Z = 2, 3, ce ,N) (B4C)

goopoooobobobbOO0. O0000oooonon a;b,e OOOO dy,la,ds,ls,
ds,...,Indy OO0 O0O0000O00DODOO0ODOO.0000000 ADD L,UDODO
o0oo00o0obO0oo0O0o0.boboobOo A0 L,voboboboboo Lvoo
(LU decomposition) U [ [J .

Lvooooooo B.ho L,uoooooo
LUx =1y (B.5)
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B.5) 0O
1 Z1 21 Y1
L 1 O 29 29 + oz Y2
I3 1 23 23 + l322 Y3
In1 1 ZN-1 ZN-1+IN_12N—2 YN-1
O lN 1 ZN ZN+ZNZN_1 YN
~ ~~ N—— S——
L z Yy
(B.6a)
d1 C1 al dlxl + C1T2 21
dg Cy O i) dQZEQ + Cox3 29
d3 C3 T3 d31’3 + C3x4 zZ3
dv-1 cn—1 TN-1 dN-1TN-1 + CN_1TN ZN-1
O dn TN dy +xn ZN
A\ ‘[} ) SR —— N, e’
(B.6b)

oooooooobobobo.oboboon B.eaydO

21 = Y, zi:yi—lizi_l (Z:2,37,N) (B7)

goobo,z,z,....2y000 i 0000.0000000000000.00
0 (B.6b) O U

;mzﬁlgﬁﬂuszan—m (B.8)
ZN

— N B.
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OO0C O@GenDIODDOODoO

gooobgosbgoogbo ¢genboobooboobooobon.

; —5¢ ;
f(=aAx) f(0) f(Ax) f(2Ax)
g(0) g(Ax)
OC.1: 0o sogogognoonpouoo. xooooboouoogo

0o.

000000000000 @O000000)00000000000,0000
00000,004000000000 —Az,0,Az,2A2z000.0000000
000 f(=Az), £(0), f(Az), f(2Az),9(0),9(Az) 0000000000, 000
000000 f(z)O

f(z) = a5z’ + asz’ + asz® + axx® 4+ a1w + ag (C.1)
000.00000 g(z) 0
g9(z) = bazz* + 4asz® + 3azx® + 2asx + a4 (C.2)

gob.0bboooggbo.

f(=Az) = —asAx® + asAz* — asAz® + ayAz? + a1 Az + aq, (C.3a)
f(0) = (C.3b)
f(Az) = a5A:v + as Azt + as Az + ayAx? + a Az + ay, (C.3¢)
f(2Az) = 32a5Ax° 4 16a,A2* + SasAx® + 4ay Az + 2a,Ax + a, (C.3d)
g(0) = (C.3e)
g(Ax) = a5Ax + dayAx® + 3asAzx? 4 2a0Ax + a;. (C.31)

goboobd e e 00O00.
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0 (C.3b), (C3e) 00, a0,¢, 000000. 00000000000000000
004000000000.000000 f(zx)ODDOOODO.
00O (C3c)—(C3a)0 0
f(Az) — f(=Az) = 2a5A7° + 2a3A2° + 2a,7. (C4)

(C.3d) —4x (C.3c) 0 O

f(2AZ) — 4f(—Ax) = 28a5Az° + 12a4Ax* + 4asAz® — 2a,Ax — 3aq (C.5)
Azx (C.3f) —2x (C.3c)0 0O

Arg(Az) — 2f(Az) = 28a5Ax° + 12a, A" + 4azAx® — 2a; Az — 3ag.  (C.6)
(C.5) —6x (C.6) 0O

f(2Az) — 8f(Ax) — 6Azg(Az) = 10a5A2° — 2a3A7° + da; Az + 9a  (C.7)
C4H+CnHod

fAT) +9f(Ax) — f(—Az) — 6Axg(Az) = 12a5A2° + 6a;Ax +9ag  (C.8)
goon

a5 = 55 [F(20) +9f(Az) — f(~Az) — 6Azg(Ax) — 6a1Az + 9a0]  (C9)
000.e,0000.0000000000,000000000000. 0 (C4)
00

1
2Ax3

000.0000 (€600

[f(Az) — f(—Ax) — 2a5A2° — 2a; Ax] (C.10)

as =

1
ay = INT ——[Azg(Az) — 2f(Ax) — 3asAz® — azAx® + a1 Az + 2ay) (C.11)
00 (C.3C)+(C3a)DDDDDDDD

Azg(Ar) — 2f(Ar) — 3asAz® — azAz® + a; Az + 2ag) (C.12)

Qy =

2Ax 4[

Oo00dode0Ues000000OO00OOO0O0O0NO.

ao = f(0), (C.13a)

a1 = g(0), (C.13b)
1

as = SAL [Azg(Ax) — 2f(Ar) — 3as Az’ — azAz® + a1 Az + 2aq)], (C.13¢)
1

a3 = 53 [f(Az) — f(—Az) — 2a5A2° — 2a,Ax], (C.13d)
1

= 5ig [Azg(Ax) — 2f(Ar) — 3as Az’ — azAz® + a; Az + 2ay)], (C.13e)
x

1
12A5

[f(2Az) + 9f(Azx) — f(—Az) — 6Azg(Az) — 6a1Az + 9ag] (C.13f)
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0000000000 f(—Ax), £0), f(Az), f(2Az),¢(0),¢(Az) 0000000
0000.00000000 400 e 0000000000.
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